1.the language used
2.the circumstances in which the statement was made
Oscar chess Itd and Williams
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Issue: Was W’s statement that the car was a 1948 model a promise or a representation?

It is a misrepresentation JIt LA O EEAN[HK AL 2 A4 i) — ¥ 734k

Because W it [) /& This car is a 1948 model. He didn't say. I promise it's a 1948
model or I guarantee it's a 1948 model (language) and &5 3% A V4= 7 Tl R 1

W EK—FEXMEN T, AnTfEm LA BAE H 7&K W (circumstances)

Handbury and Nolan
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Issue: ALK AT RAGFN? yes

Because language JR[A[F] L, (EARSERA R TH WA RR, FreAa s
Xt SR K, AT AN & RO

5.Implied terms [& 75 25K



